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- Part—-A (Physics)

 Questio

Questlons

Under the action of a force F = Cx, the posmon of a body changes from 0 to

X. The Work done is

(1) Y% Cx? 2) Cx?
3 Cx . 4 »%»Cx
2. | The angle turned by a body undergoing circular motion depends on time as
0= 9 +0 t + G i Then the angular acceleration of the body 18
1) 6, | 2) o,
(3) 26, ek o (@20,
3. | Arocket of mass'1000 kg exhaust gases at a rate of 4kg/s with a velocity
3000 m/s. The thrust developed on the rocket is
(1) 12000 N (@ 120N
(3) 800N e e (4) 200N
4, | If A is the wavelength of hydrogen atom from the transition n =3 ton =1,
then what is the wavelength of doubly ionized lithium ion for the same|
‘transition ' |
A @ A
@ M | @ 9%
5. | The dimensions of pressure gradient are '
(1) ML2T? (2) ML2T-
(3) MLAT! (4 MLAT?
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uestion
No.

6. | Aballis dropped from the top of a tower of height h, it covers a dista:

Questions

h/2 in the last second of its motion. How long the ball remains in air ? T

g=10ms2 _
(1) Zix/fsec' _ 2) \Esec
3) 2sec (4) 2l sec

2

7. | Two particles are projected simultaneously in the same vertical plane, fro

the same point, both with different Speeds and at different angles wi

horizontal. The path foIlowed by one, as seen by the other, is
(1) avertical line '

(2) aparabola

(3) ahyperbola

sl (4) astraight making a constant angle (= 90°) with the horizontal

8. | A bullet fired into a target loses half its velocity after penetrating 25 cn
How much further will it penetrate before coming to rest ?

(D V26 cm (2) 25cm.

(3) 8.3cm. 4) 75cm.

9. | Asmall ball describes a horizontal circle on the smooth inner surface of a
conical funnel. If the height of thg plane of the circle above the vertex be
10 em; what is the speed of the particle ?

(1) 2m/s | (2) 4ml/s
(3) 16 m/s 4 1m/s
BPH—-—EE—2013—COde—A (2)
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estion et
No. Questions
10. | A body is projected vertically upwards from the surface of a planet of

radius R with a velocity equal to half the escape velocity of the planet The

- maximum height attamed by the body is

i A @5
@) B, @ R/

11. Atwhat temperature is the r.m.s. velocity of a hydrogen molecule equal to
that of an oxygen molecule at 47°C ?
1) 80K - L BlemK
@)agic . = () 20K

12, | A material has Poisson’s ratio 05 Ifa uniform rot of this material suffers

| alongitudinal strain of 2X1073, what percentage increase in volume takes

place s
1) 2% 2 2.5%
3) 5% ‘ 4 0%

13. | A metallic sphere cools from 50°C to 40°C in 300 sec. If the room
temperature is 20°C, then its temperature i in next 5 mmutes will be
(1) 38°C . 3 (2) 33.3°C
(3) 30°C (4) 36°C

14. | PV dlagram of a diatomic gas is a straight line passing through origin. The

molar heat capacity of the gas in the process will be

(1) 4R , 2 3R
A .5
® 3R sk

BPH—-EE—2013-Code—_A 3)
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15.

An elastic string has a length ! when tension in it is 5N. Its lengthish wheﬂ

tension is 4N. On subjecting the string to a tension of ON, its length will be
(1) &b @ lh '

(3) 5l-4h Ay e

16.

The peribd of oscillations of a mass 1.6 kg suspended from a spring is

2 seconds. If along with it another mass m kg is also suspended, the period
of oscillations increases by one second. The mass m is

(1) 1kg (2) 2kg
3 16kg : 4) 2.6kg

17.

Two coherent sources must have the same L
(1) Amplitude (2) Phase difference only
(3) Frequency only (4) Phase difference and frequency

18.

When a source is going away from a stationary observer with a velocity
equal to that of sound in air, the frequency heard by observer will be -

(1) Same f (2) Double
(3) Half (4) One third

19.

Ultrasonic waves are produced by
(1) Piezoelectric effect (2) Pettiro’s effect
(3) Dopplers effect (4) None of these

20.

Fundamental frequency of a sonometer wire is n. Ifthe length, tension and
diameter of the wire are tripled, the new fundamental frequency is

n

» 5 e 2

® w3 @ 55

BPH-EE-2013-Code-A (4)
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21.

uestion
No. Questlons ,
The magmtude of electric field strength E such that an electron placed in

it would experlence an electric force equal to its we1ght 1s given by

(). mge’ oo S RFEE
& e e ‘4) ezg.
mg . - == 2m
22, | The electric potent1al at the surface of an atomlc nucleus (z—50) of radius
| 9Fermiis
(1) 80Volt @) 8x108
1@ 9v L (4) 9x10°V
23. | A charge Q is d1str1buted uniformly in a sphere (sohd) Then the electnc
| field at any point r where r <R (R is radius of sphere) varies as
@ * @ r.:
3) r @ r?
24. | At a point on the axis of an electric dipole ;
e LAY The electric field E is zero
(2) The electric potential V is zero
(3) Neither E nor ‘V(is zero
(4) BothE and V are zero
25. | The quantlty in electnclty analogous to temperature is

(1) inductance (2) charge

(3) resistance

(4) potential

BPH-EE-2013-Code-A
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Qu§5;10n ‘ Questions

26. | Four bulbs marked 40 W, 250 V are connected in series with 250 V mains,

the total power consumed is |
(1) 10W (2) 40W
(3) 320W | 4) 160W

27. | The resistance of an ideal voltmeter is
(1) zero : (2) infinite
3) >1kQ @) >10

28. | Adip needle in a plane perpendicular to magnetic meridian will be
(1) Vertical

(2) Horizontal

(3) at an angle 45° to the horizontal

(4) at an angle of dip to the horizontal

29. | A power line lies along the east west direction and carries a current of

10 ampere. The force per metre due to earth’s magnetic field of 10~ T is
1) 105N (2) 10N
3) 103N 4) 102N

30. | The maximum energy of a deutron coming out of a cyclotron accelerator is

20 MeV. The maximum energy of pz;otons fhat can be obtained is

1) 10MeV (@) 20MeV
3) 30MeV e @ 40 MeV
BPH-EE-2013-Code-A (6)




/ Q“lf%.im Questions
31. | The electromagnetic damping experienced by a metal mass moving in a
| _mqgnetié fieldisdueto '
(1) - Alternating current
(2) Eddy current
(3 Magnetic field
4) 'Alternating pbtehtial produced in metallic mass
, 32. The value of current at resonance in a series LCR circuif is affected by the
. value of | |
1 Ronly (@ Conly
3 Lonly 4) L,CandR
'33. | In which of the; following regions of electromagnetic spectrum will the
vibrational motion of molecules give rise to absorption ?
(1) Ultraviolet TR (2) Microwave
(3) Infrared . (4) Radio waves
34 If the refracting angle of a prism is 60° and the minimum deviation 30°,
| the angle of incidence will be ‘ +
(1 300 . : - (2) 45°
@) 60° @
35. The impurity concentration in a normal diode is equal to
| @ 1in10°Parts (@ lin10°parts
| 3) 1in 103parts g (4) 1in 102 parts
BPH-

EE-2013-Code-A  (7)
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Part-B (Chemistry)

e

Q“;fot.ion Questions
36. | The téiﬁal numbers of protons in 10.0 g of C3003 is
(1) 1.5057 x 102 (2) 2.0478'x 102
(3) 3.0115x 102 (4) 4.0956 x 102
37. | Which of ’the following sets of quantum numbers are correct ?
(1) n=1,/4=1,m=+2
@ n=2¢=2,m=+1
@ n=3,¢4=2,m=-2
4 n=3,/=4m=-2
38. | Among halogens the correct order of ‘electron gain enthalpy is :
1) F>Ci>Br>1 (2) F<Cl<Br<I
3) F<ClI<Br>I (49 F<CI>Br>1
39. | The hybrid states of central atom in diborane, diamond and graphite are
respectively :
(D sp%sph e (@) spd spd, sp?
(3) sp?, sp’, sp® (4) sp, sp? sp®
40. | Which pair of the gaseous diffuég through a small jet with same rate c;f

diffusion at same P and T ?
(1) NO,CO @ NO, Co,
(3) NH,, PH, 4) NO, C, H,

BPH-EE-2013-Code-A = (s)
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41.

A gas occupies 2 litres at STP. It is provided 300 J heat so that its volume

becomes 2.5 litres at 1 atm. Calculate change in its internal energy

| (M) 300d : (2) 249.35J
©G) 498707 @ 6004

42.

What should be the solubility product of A¢, (S0,),
| 278t @ s

(3) 1088t | (4) 10885

43.

Which of the following arrangements represent increasing oxidation number

of the central atom ?

(1) ClO;, CrO¥, Mno, Cro;
(2) CrO;, CIO;, MnOj], Cro,i’
3) 'CrOf“,v MnO;, Cr0;, CIO;
@ Cro;, ClO;, CrO¥, MnO;

44,

In solid ice, oxygen atom is surrounded :

(1) tetrahedrally .by 4 hydrogen atoms

2) octahedrally by 2 oxygen and 4 hydrogen atoms
(3) | tetrahedrally by 2 hydrogen and 2 oxygen atoms

4) 'octahedrally by 6 hydrogen atoms

'BPH-EE-2013-Code-A (9)




‘Code-A

: @uestion‘

g Questions

45. The'paréma‘gnetic species is :

1) Ko, @ Sio,
-(3) | TiO, ’ (4) BaO,

46. | A solid compound X’ oﬁ heating gives COZ gas and a residue. The residue
mixed with water forms Y. On passing a-n excess of CO, through Y’ in
water, a clear solution ‘Z’ is obtained. On boiling Z’ compound X’ is reformed.
T};e compound X' is ‘

L (1) CaHCO,, (2) CaCO,
{?id% (3).:Na, COy. s s 4 K,CO,
F{"‘u‘flg{f 47. | The wrong statement about fullerene is
- ‘ (1) Ithas ’5-r1.1embered Carbon ring
@) : It Kas 6-membered Carbon ring
(3) Ithassp? hybridization
(4) It has 5-membered rings more than 6-membered fings
48. The chemical composition of ‘cryolite mineral is .
(1) A0,
2 A4,0,12H,0
(3) KA Si,0,
(4) Na, ACF,
'BPH-EE-2013-Code-A (10) -
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!Question ’ .
No. Questions
49.

CH3 —=CHC/— CH2 2 CH, has a chiral centre, which one of the following

: repirésénts its R configuration ?

C,H, N C,H,
; F e Tl : |
1) H—(})—CHa (2) Cf-—(')—-CH3
Cr .
lCHs ot GH,
. B V 2 l
3) H~<l>-~ Ce 4) Hsc—(l)- of,
C,H, : H
50. | Wurtz reaction is best used for making :
(i)' UnEranc_héd alkanes k (2) Symmetrical alkanes
(3) Unsymmetrical alkanes @ h-alkan_es with odd number‘of carbons
51. | Which of the following gases is not a green house gas ?
M co Lo,
3) VCH . : 4) | H,0 vapour
52. | The edge length of face centred unit cubic celi 1s 508 pm. The radii;s of the

atom‘wi‘llbe
(1) 179.6 pm - : (2) 288pm

(3) 618pm ' (4) 398 pm

RBPH-EE2013-Code-A -~ (11).
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Question1

No Questions

53. | The freezing point of 1 molal NaCl solution assuming NaCl to be 100%
dissociated in water is : (Kf = 1.86 K Molality™)

(1) —1.86°C (2) -3.72°C
(3) +1.86°C (4) +3.72°C

54. | While charging the lead storage battery
(1) Pb SO, anode is rgduced to Pb

(2) Pb SO, cathode is reduced to Pb
(3) Pb SO, cathode is oxidized to PbO,
(4) Pb SO, anode is oxidized to PhO,

;'6"6%5 55. | Which of the following is a unit of zero order reaction ?
E,Ei (1) molL"'S™ (2) Lmol"S™
e

A (3) L'mol'S™ (4) Lmol. S

56. | The colloidal solution of gelatin is known as
(1) Solventloving (2) Reversible
(3) Hydrophilic (4) All of the above

57. | Flux used in the metallurgy of iron is
(1) Sio, - (2) CaCo,
3) Felspa»r (4) Flit

58. | Which of the following acids forms three series of Salts ?

(1) H,PO, | (2) H,BO,
3) H,PO, (9 H,PO,
BPH-EE-2013-Code-A (12)
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No.  Questions
59, Oxygen lﬁdlecules shows :
‘ (1)_ Diamagnetism - ©® Paramagnetismr :
3) Ferromégnetism (4) Ferrimagnetism
60. | Identify the molecular formula of tear gas :
(@) 'COClz : 2) CCl,NoO,
: (3) CCI,CHO : - (49 None of above
61. XeF, on complete hydrolysxs gives :
(1) Xe ) XeO,
(3 XeO, - (9 XeO,
- 62. | When one mol CrCl 6 H,O is treated with excess of AgNO3, 3 mol of
AgCl are obtained. The formula of the complex is :
Q) [CrCl, (H, O) o 8 H 0 @) [Cr (H 20) CI,
3) [CrCl (H .01 Cl 2H,0 @ [CrCl (H,0),] Cl 4, 0
63. | Electronic conﬁguratlon of a tran81t10n element X in + 3 ox1dat10n state is
[Ar] 3 d‘S what is its atomic number 2
W B OB e @ 2
64. Ethylidene chloride isa / an
() viedihalide | (@) gem-dihalide
® allylichalide @ vinylic halide

BPH-EE-2013-Code-A (13)
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65. | Phenol is less acidic than
(1) -ethanol (2) o-nitrophenol

(8) o-methyl phenol (4) o-methoxyphenol

- 66. | Cannizaro’s reaction is not given by :

CHO ‘
> Ko @ ¢ -omo

(3) HCHO 4) CH,CHO

(7% jreayy

A Cody 67. | Picric acid is

W G W " ) i

‘;A;g (1) Trinitroaniline (2) Trinitrotoluene

! L k (3) Volatile liquid (4) 2,4, 6 —trinitrophenol

" 68. | Which of the following acid is a Vitamin ?
(1) Asparticacid | (2) Ascorbic acid

(3) Adipic acid (4) Saccharic acid

69. | The commercial name of polyacrylonitrile is
(1) Dacron " (2) Orlon -
3) PVC | (4) Bakelite

70. | Equanilis:
(1) artificial sweetener = (2) tranquilizer

(3) antihistamine (4) antifertility drug

BPH-EE-2013-Code-A  (14)
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Code-A
Part-C Option (i) (Mathematics)
: ‘1qu§s;_i°n] .  Questions | .
| 70 | EX={1,2 3, Y= 6,4,2=145 6} then X U(Y N Z) is
S e ® e 5,6}
@ {1,2,3,4 4 {1, 3? 6}
72, | Let A= {(a,-b)v: a’+b?=1, a,._b'e R}. TheﬁA is
. | (1) symmetric ‘ 2) antisyrhmetric
(3) reflexive e (4) transitive
73. | Iff(x) =2 x» +K, £(2) =26 and f (4) = 138, then f(3) = |
(1) 86 = 2) 32
3 56 @ e
74 If sin6 +cosf = V2 cos 6, then cos 6 —sinf =

@) —V2cos0

| @ x/§(cos "9+sin9) .
@ 2 sin 0
@ V2sine

75. | 1SR X*Y)_a+b o tanx _
sin (x-y) a-b tany

W 2 @ 2

|@ 2= @ ab

- BPH-EE-2013-Code-A | (15)
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No. i
76. | If ‘Z‘2.+1 =~ |Zz-—1‘, then z lies on
(1) - circle ( ) - (2) ellipse.
®3) parabdla % (4) none of these
77. | Theinequalities3x—y 2 3,4x—y>4have |
(1) solution for all x
(2) solution ;forlall y
3) solﬁtion foru positive x and y
4) 'no solution for positive X and y
78. | Three dice ére rolled. The number of ﬁossi_ble o;xtcomes in which at leas
one die shoWs 3 is | : | N » v
ay 36 .., ol @) 42
@ & "  wa
79. | If "P. =120 "C,, then the value of ris -
1 3 2 4
g e
- : 115 : _
80. | In the expansion of (x"‘»—— ;{—;) , the constant term is
(O PO, @ ¢,
® o 0%

BPH-EE-2013-Code-A - (16)




4‘ - leuestion!t

No.

"~ Questions
If . are\'inAP theﬁ
1= "‘b+c’ ct+ta’ a+b i
L) a%, b’ ctarein A.P.
(2) a,b,careinA.P.
1171 g
3) g A are in A.P.

(4) a, b, carein G.P.

82. | The nearest point on the line 3 x — 4 y = 25 from the origin is
0 6G=9 . @ -3
@ 6o @@y
83. | The area of the circle centred at (1, 2) and passing through the
point (4, 6) is | wE
1 16n @ 25n
@) 361 @ 49x
84. The ratio in which xy-plane divides the join of (1, 2, 3) and (4, 2, 1) is
(1) 2:linternally (2) 1:2externally
(3) 1l:3internally 4y 31 exfernally
85. | o E}nioo (2 x++4x’ ——x)z
@) 2. | : 2 4
1 e 1
@5 @ 5

~ BPH-EE-2013-Code-A ()
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Questio A : 2
; No. '4 : : s Questions
| 86. | If y= \/sinx+\/sinx+w/sinx+,--.'-,. © then g_y.z
| : X
a =1 ' @ cos x
‘ cosx*t | 2x=1
| cos X _, ' 2x_1.
®) 2y-1 | @ cos X

87. | If the numbers between 1 to 65 and divisible by 4 are written in reve

order then which of the following numbers will be at 10th place ?
(1) 24 . | (2) 28
(3).32 2 (4) 36

88. | Each observation of a raw data whose variance is o’ is multiplied by

B e

n: I | | " | then the variance of the new data is
sy

e @ o | . @ K¢
r : @ Ko (g Kio

89. | Three identical dice are rolled. The probability that the same number w

appear on each of them is

1 T
@D o= .'(2)'.5

1 gl
@) = @- =

90. | A speaks truth in 70% cases and B speaks truth in 80% cases Th

probability that they say the same thing while describing single event is
(1) 0.58 (2) 0.62
(3) 0.64 4 0.76

BPH-EE—2013—Code—A (18)




'Q“;itim,‘l 'Questions'
| o] sl
‘ . 47
¥ @D 3 @ =
= <ie 51
-(_3)_ 78 @ —
Ifw is one of the cube roots of unity, then
1 w w?
w 1 w? =
w w1 ‘
D w @ w
@ o0 “ - @ 1
0 -
93. |IfA={0 1 0., thenA?=
' Xy ol
o1, @ A
@ -a ’ @ L
S o4

1'[.
If f(x)={ "X xS
sinx+n, x>%

and f (x) is continuous at x = T X then

: nw : T
]_ =—+1 2 = = —
(1) m . (2) m=n 2
3) n=mg 4 m=1,n=0

BPH-EE-2013-Code-A (19)
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Questionl
No.

Questions

95.

The maximum value of Xy subject tox+y=121is i

1) 16 (2) 18 3) 24 4) 36

96.

The value of j Se‘/; dxis
| 1.5

(D:-4e* " . 1(2)‘6e3

3 26 (4) 3ed

917.

The area of the figui‘e bounded by y = sin x, y = cos x in the firs

98.

quadrant is T .
@ 2(V2+1) @ 2(v2-1)
@ 2(v3-1) @) J2-1

. . . R dy oy ‘
The solution of the differential equation y I =x—1 satisfyingy (1) =1
1) y?=x2-2x+2 ; 2 yP=x-2x#*1
3 y=x-2x+2 @ y=x*+2x+2

99.

If & and b are two unit vectors inclined at an angle 0 such that a+Db is

unit vector, then 0 is equal to

37 27

(2] - G 4

T TC
s 2 3 4

100.

If a,B,y are the angles which a directed line makes with the positiv

directions of the coordinate areas, then sin® o+ sin®p +sin’y =

b @ 2 L e 5

BPH-EE-2013-Code-A - (20)
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Questions

_ '_.'..101, '."nydrbpenics is:
|y sl 166 ilture

1y

() Water less culture

i

5 (4):1-"'?.il‘\’r’iiiﬁiiéhéiiéss;;eul‘t'urefj s

v i02 : iﬁt crop grown by the farmershln Ind1a Fmaths caps
| 1 (3) Cotton “ s

" (4) Tomato

5 (4) Number of Annual r"it_vigé‘

104 In DNA ademne normally palr w1th

;,«,‘1’5%'9«"‘ %’*: f?‘ei i “? ‘f' 3’?" w" ELEE ; %R0y WY

B

‘ _103.."-The genotyplc ratlo of monohybrld cross 1s b
i w 3: A Rt } = (z) 8 3 311

IRFIELL A X SUATE 2t 312 SRARtEag 31 P8

A5

* 106 .’:Gene therapy is :

= (1) Method to deter;mnee, blood group |

(2) Method to replace a defectlve gene w1th a healthy gene
5 A(3) Methodg}to d@termme evolutmn "
'(4;)3 Ail Qf the abemﬁ %

BPH-—EE-2013-Code-A o




Qu&s(’)eion - = 'Questions | 3
107.' Hardy We1nberg law 1napopulat10n represents : _
: : (1) Allele frequency e Heterozygote frequency
(3) Genotype frequency & = (4) -Homozygote frequency
108. | A mother of blood group O has a group 0 ch1ld the father could be of
| blood type. e, A | | . ' 5
(1) AorBorO S : b.‘v.(2) ‘AorB s T
(3 Oonly i S ABonly S T
109. Interspec1ﬁc hybr1ds proved very useful for _
1) Gene functlon R : (2) Gene mappmg |
_(3) Gene structure k , g 4) Genetlc-'marupulation L
110. ,Sy'stemati_cs deals With_: j -
| ¢)) Classiﬁcation of organisms i
Q) Ident1ﬁcatlon of orgamsms _
' (3) The kind and d1vers1ty of all orgamsms and emstmg relatlonshlps
among themselves = e '
(4) 'None of the above 5
111. | Down syndrome is usually the result of a an extra chromosome
'_'(1) 15 TR 17
(@), 19 o (4) 21
112. The two strands of DNA are ]omed by

(1). Covalent Bond | @ Iomc Bond

,. (3) Hydrogen Bond ‘ (4) Phosphodlestel' Bond:_

BPH-EE-2013—Code-A (22)
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: i_huestlon- ; 1':'1 g-'. - Questlons

L Al 13 : Whlch 1s the most pnm1t1ve group of algae ?
= (1) Green algae R s @ Blue green algae
> :(3) Red algae . oo o) Brown algae |

_1-14; .Dunng cell cycle DNA synthems takes place in:
| (1) Prophase : = e (2) Sphase .
A (3) Sl . (4) G2phase

et 115 ' Photosynthetlc plgments are located in the
i ‘ (1) Thylak01d membrane =

‘, (2) Inner membrane =

e (3) Outermembrane T

::(4) Thylakmd lumen

: _ 116 Patlents suffermg from AIDS have followmg immune abnormahtles .
| (1) T-cell deﬁmency | | '

@) Enlar_gement of s_pleen %

o 3) Neutrophil eX(:e_ss e
';(4) 'W B.C. e‘xces's".‘

". : 117 Wthh of the followmg is essentlal for blood clottmg 7, a 2,
v ' (1) Lymph 5 L (2) Blood platelets '

| 118 ‘ The sahva helps in the d1gest10n of
(1) Starch e s (2) Protems '
(3). Fibres S e (@) Fats
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(3) Deficiency of Toding®

t 120. |

(4) Deﬁmency of Vlt‘amms

(1) HlStoCyte | é
| (3) Leydlg _Cells -

The protectlve coverlng of bram is:

(1) Pleura

1.3). ,.'Eer;cargium
CINEERI LR OIS ST R AR T)

122.

@ Uterus - @)loVagine
| (3) Falloplantube Ak (4) "Gﬁ/arjrf“

Fertilization of ova in human takes place in oo sl |

1) Methang o

NeS Carboxy haemoglobm (4) Oxy-haemogIobmv

*"w W

P\

LT 4

S ,.z(ﬁ) éerSﬂlé 'ac1dﬁ

£y ('"‘: §og
g.a £33

sislsinic booldl (5:

u‘«N) F_;“g( «w\. @,_ﬁ“

124,

Abnormal secondary growth is found in: :
: ii }@:5?"91.,," ol £l mﬁ?ﬁ{*‘

1) Cucurblta (2) Dracaena

3) Tr1t1cum : (4) Sugarcane ﬁﬁ7{,5;,;;35

i E;;
;?“e LS € L
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No.

i Questlon‘ '

Questions

125.|

Wthh 1s the causatwe orgamsm of Typho1d ?

| (1) Salmonella typhz
(2) Mycobacterzum typhi
(3) Plasmodtum falcr,parum :
(4) All of the above
Fy : 126. ! V1negar is obtamed from mollasses w1th the help of :
', (1) Aspergtllus (2) RhLzopus
: (3) Acetobacter | (4) Penicillium
127. The amount of ATP requn'ed for the synthems of one glucose molecule n |
| C, pathway is : ' ' '
(1) 18ATP - (2) 20 ATP
; ’(3) 28 ATP @ 30 ATP
128.: What are the natural reservon‘ r of phosphorus 2
-(1) Rock (2) Animal bones '
| 3) Sea water (4) Plants
129. The trop1cal forests in Ind1a are located in :
1) Haryana (2) Himachal Pradesh ‘
(3) J ammu & Kashrmr (4) Andamans |
130. Whlch of the followmg is an eye dlsease T !
: i Me.asles A (2) Bronchitis
(3) Glaucoma (4) Diabetes ._
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21 - 2 31 - 2 41 - 2 51 - 1 61

11 - 4

1

12 - 4

32 - 1 42 - 4 52 - 1 62 - 2

22 - 2

4

23 - 3 33 - 2 43 - 4 53 = 2 63 - 2

13 = 2

1

24 - 3 34 - 2 44 - 1 54 - 1 64 - 2

14 - 2

3

25 - 4 35 = 2 45 - 1 55 ~ 1 65 - 2

15 - 3

1

26 - 1 36 - 3 46 - 2 56 - 4 66 - 4

16 - 2

1

27 - 2 37 - 3 47 - 4 57 - 2 67 - 4

17 - 4

4

38 -~ 4 48 - 4 58 - 3 68 - 2

28 - 1

4

18 - 3

69 ~ 2

59 - 2

29 - 3 39 - 2

19 -1

4

49 - 2

20 - 4 30 - 4 40 - 4 50 - 2 60 - 2 70 - 2
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